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> load digit.mat

oobooooXo ToOoODODoOOoooooooooooox
oboobooooooobooTOOobOoDoboooon
goboboboobbooobooobooobaoobad
OO0 whoOODOOOOODOOO

> who -variables -long
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> x=X(:,23,5);
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> imagesc(reshape(x,[16 16])’)
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> clear all
> load digit.mat
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\'4

mui=mean(X(:,:,1),2);
mu2=mean(X(:,:,2),2);
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S=(cov(X(:,:,1) )+cov(X(:,:,2)7))/2;
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> t=T(:,1,2);

> invS=inv(S);

> pl=mul’*invS*t-mul’*invS*mul/2;
> p2=mu2’*invS*t-mu2’*invS*mu2/2;
O0O0O0mv(S)0DO0O0O0OO

warning: inverse: matrix singular...
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> sign(pl-p2)

ans = -1
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> t=T(:,:,2);
> pl=mul’*invS*t-mul’*invS*mul/2;
> p2=mu2’*invS*t-mu2’*invS*mu2/2;

> result=sign(pl-p2);
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> sum(result==-1)
ans = 198
> sum(result™=-1)

ans = 2
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> find(result~=-1)
ans =
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> imagesc(reshape(t(:,69),[16 16])’)
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clear all
load digit.mat X T

[d,n,nc]l=size(X);

nc=3;

S=zeros(d,d);

for c=1:nc
mu(:,c)=mean(X(:,:,c),2);
S=S+cov(X(:,:,c)’)/nc;

end

invS=inv(S);

for ct=1:nc
for c=1:nc
muc=mu(:,c);
t=T(:,:,ct);
plct,:,c)=muc’*invS*t-muc’*invS*muc/2;
end

end

[pmax Pl=max(p,[],3);
for ct=1:nc
for c=1:nc
C(ct,c)=sum(P(ct,:)==c);
end

end
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